MERCRUISER [7.4L MPI MIE (L29) GEM. V] G 454 Y-8 1933-2000)

Serial Mbr Range: OLO02006 THRU OLE74E13 ()

aomwe

TO FUEL RAIL
TO FUEL RAIL PRESSURE REGULATOR
TO INTAKE MANIFOLD

¥ FUEL PUMP &MD FUEL COOLER

Ref |Clazs|Part

Description

Qt Comment

| A

Footnote

2 B07YERET | INSULATOR-BASE 1
3 8611564 1| PUMP-FUEL [ELECTRIC) 1
4 22 20778341 | FITTING ASSEMBLY 1
5 25 BOS063| O-RIMG 4 4
E 22 8080014 1 |FITTING ASSEMBLY 1
7 25 805062 O-RING 1 4
g2 96126741 |COOLER-FUEL 1
) 10 861303 SCREW[1/4-20] 1
10 53 861414 RING-RETAIMING 1
11 22 S0EE0S4 1| PLUG-DRAIN 1
12 25 32503]  GUAD RING 1 4
13 807979T |FLATE 1
14 1A 23593 | NUT [1/4-28] 2
15 8611264 1 |REGULATOR-FUEL PRESSURE (|1
16 35 805406) FILTER 1
17 10 852368 | SCREW [H10-24 X 3/4 M. 2
18 12 99302 '\WASHER 2
13 22 S050024 1 |FITTING ASSEMBLY 1
20 12 36533 WwaSHER 1
21 32 80173 73/ HOSE 1
22 22 860273 CONMECTOR-HOSE 1
23 10 202005 SCREW [1/4-281/21M.) 4
24 26901 1|BUMPER-RUBEER a8
25 B07330{INSULATOR-COVER 1
26 32 9616634 1|FUEL LIME-FUEL COOLER TO FU |1
2 25 805063 O-RING 2 4
28 28 861336 O-RING 1 4
29 i BRO0EI[MUT [3/8-16) 2
30 32 806173 73 HOSE 3
3 22 BOEERS| T-FITTING 1
- 2 802667438 | GASKET SET-ENGINE OVERHAL 1




